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SUT FESEM EHT = 2.00 kY signal A = 5EZ |
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Mag= 1000K X WD = 63 mm
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Signal A

Mag= 1000K X WD = 29mm

EHT = 3.00 kY

SUT FESEM




#- ' "i: ..L..-'* . . ¥ -:L :l " I
SF A= w5 A AR SR NI
SUT FESEM EHT = 3.00 kY Mag= 1000K X WD=29mm signal A =InLens




SUT FESEM EHT = 3.00 kY Mag = S0.00K X WD =63 mm Signal A = SEZ
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100 nm SUT FESEM EHT = 3.00 k¥ hMag = 50.00K X WD= 29mm Signal A = InLens
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SUT FESEM EHT = 300 k\ Mag = S000 K X WD = 29 mm Signal A = InLens




SR SUT FESEM EHT = 3.00 kY Mag = 10000 K A WD = 29 mm Signal A = SEZ
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AR SUT FESEM EHT = 3.00 kY Mag = 10000 K A WD = 29 mm Signal A = SEZ




SUT FESEM EHT = 3.00 kY






